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X6142
0 x 6142 = 0

1 x 6142 = 6142

2 x 6142 = 12284

3 x 6142 = 18426

4 x 6142 = 24568

5 x 6142 = 30710

6 x 6142 = 36852

7 x 6142 = 42994

8 x 6142 = 49136

9 x 6142 = 55278

10 x 6142 = 61420

11 x 6142 = 67562

12 x 6142 = 73704

13 x 6142 = 79846

14 x 6142 = 85988

15 x 6142 = 92130

16 x 6142 = 98272

17 x 6142 = 104414

18 x 6142 = 110556

19 x 6142 = 116698

20 x 6142 = 122840

21 x 6142 = 128982

22 x 6142 = 135124

23 x 6142 = 141266

24 x 6142 = 147408

25 x 6142 = 153550

26 x 6142 = 159692

27 x 6142 = 165834

28 x 6142 = 171976

29 x 6142 = 178118

30 x 6142 = 184260

31 x 6142 = 190402

32 x 6142 = 196544

33 x 6142 = 202686

34 x 6142 = 208828

35 x 6142 = 214970

36 x 6142 = 221112

37 x 6142 = 227254

38 x 6142 = 233396

39 x 6142 = 239538

40 x 6142 = 245680

41 x 6142 = 251822

42 x 6142 = 257964

43 x 6142 = 264106

44 x 6142 = 270248

45 x 6142 = 276390

46 x 6142 = 282532

47 x 6142 = 288674

48 x 6142 = 294816

49 x 6142 = 300958

50 x 6142 = 307100
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